
APPEI\DICES



THE PASSAGE FOR TREATMENT 1

Healthy House Construction

Once you understand the basic concepts, healthy house construction is no

more difficult than unhealthy house construction. However, it does involve more than
just selecting non-toxic materials. It also requires an understanding ofhow a house

frrnctions-foi example how a house 'breathes' naturally (and why that may not be

desirable), and how heating and ventilatrng systems interact. There are some

considerations to make in designing and constructing a house that will not make the

occupants sick.
Site selection is the first consideration in healthy house construction because if

the outdoor air qualiry is poor, then the indoor air quality will also be poor. It is

possible to insta[ filtration equipment to clean all of the air indoors, but this can be

expensive. While fil6ation may be necessary in some instances, it is often easier to

build rn an unpolluted area in the firS ptace. Remember; do build in a clean locale.

People need fresh air. Mechanical v€ntilation can zupply that air at the correct

rate whenever it is required. Relyrng on filtration for the occupants' air supply is

unreliable at best and more often than not, insufficient. So, so install a sufficient

ventilation system.
Kitchen and batbroom cabinets e not only made of manufactured wood

products that contain glues high in formaldehyde (medium densrty fiber board,

particle board, hardwood plywood) but &ey are also coated with a very potent 'acid

catalyzed' formaldehyde finish. The finish has v€ry high emissions for 6-12 months,

after which levels decrease sipificantly. The emissions from the fonnaldehyde base

glues have half-lives of several years. Custom made a baked-on finish are better

choices.
In general, water based products are more benigrr than solvent based products

because they have lower levels of volatile organic chemicals (VOCs). However, they

are not perfect because there are ingredients besides VOCs that can be responsible for

negative health effects. For those interested in even healthier products,, several

spicialty manuftctures are now offering alternative materials that are more benign

than off-the-shelf products. If solvent-based products must be used for some reason,
plenff of ventilation is mandatory to minimize exposures. Extra ventilation is

recommended with water based products. Therefore, it is better for us to use water

based adhesives, caulks, paints, etc.

(Adapted from rn'rv. house and homecom)



THE PASSAGE FOR TRLATMENT 2

Birth Control

Throughouthistorypeoplehaverecognizedthattheeartlrwouldbecome
overpopulated"if they couidn:t pievarl conception' tn the past, workers in the. field of

birttr-control always thought hard to find an effective method in family panning. The

result of their *oik *u, simple; ef[ective family planning is found-in good and easy

access to obtain contraceptive methods. But dris idea was only partly true. Experts in

f.*ii' pf"""irg hnally found out that human error contributes greatly to the effectives

ofany form ofbirth control.
Researchers have found tliat the effectiveness of a contraceptive method is

related to the motrvation of the couple who are using it. Couples who are trying to

Umit tne size of their families will be successfrrl in the use of contraception methods'

Theimportantthingstoconsiderinusinqbirthcontrolmethodsare:l)no
matter how 

"fi..tiu" 
birtlicontrol methods are in the theory' you must use them

consntently, 2) it is important for you to understaod how the methods work and how

to use the method correctly. Birth contol methods can be grouped into two

categories: methods requiring no medical care and methods requiring medical care'

Birth control methods which-are available without medical cnre ar€ condoms" foams'

.;"Ui.t,u"Ocreams.Whilemethodswhichareavailablewithmedicalcarear'oral'contraceptiues, 
intrauterine devices, and natural lmily planning'

Acondomisathinrubberornatrnalskinsheathandbasbeenwidelyused
tluoughout the world for centuries. It is also known as the leading mechanical method

of birth control in the world. condoms cause no hannful physical side- effects, and

t1,"y; the only fo.to oJ *"tu"eption that dgfinitely helps prevent the spread of

,"ruutty diseasei. With the present epidanic of the diseases, condoms are important

for sexually activ€ men and women.
Likecondoms,tbams,creanrs,andjell iesareusefulforindividualswho

require u po,tubl", simple, inexperrsive, non-medical method, that can be used as they

want to.Therearenoharmfuls ideef fectswi th thesemethodswi ththepossib le
exception of the women *ho huu" allergic reactions. But these reactions can usually

be avoided by changing brands.
oral .ont u.-"ptiu.; the pill' was first used in 1g60. Most fonns of the pill

introduce into the body certain 
'synttretic 

equivalents of the natural sex hormones' in

such a *ay that the hormone rycle tttat leads the woman'S body to ovulate.is altered

andovulationispreventcd.Thepil lhasmanyserioussideeffects,includingblood
.lotr, in...ur"d risk of n"u.t uttu"k, and for users between the ages of fifteen and

thirty-four. about 8 times greater risk of death due to circulatory disorders compared

to those rvho do not use the Pill.
lntrauterine devices ifUOt) are devices made of soft, flexible plastic,, produced

in various sizes and shapes. They are inserte<i into uterus by a physician. They do not

Dfevent ovulation, but'it is tlrought that they interfere in some ways u'ith the

implantation of a fertilized egg in the lining of the uterus.

u

(Adapted from Life and Health)



THf, PASSAGE FOR TREATMENT 3

The BasicComPonents of Food

All foods are composed of chemical compounds' During the process of

digestion, o* toaies breakthese compormds mto simpler ones an(l then reassemble

tn!* -to other kinds of chemicals tnit can be directly used by the b9dy. ]here are

fow Uaslc groups ofchemicals in the foods we eat (l) protein, (2) carbohydrates' (3)

fat and (4) vitamins and minerals.
Protein,foundinmeageggs,dairyproductandsomeotherfoods'isimportant

for gowth and repair of the uoali ft" body u.o protein to build muscle, hair, teeth,

nuiti too"t, nerve cells, hemogtobin and bnzymes There are also special proteins'

knows as nucleic acids, in the riuclei of all the cells in your body' Ptol"T is made up

of nventy-two different amino acids, 'the building blocks' of the body. of these

t**,v-t*ol' eiglrt are called essential amino acids because the body carmot produce

them.'you muJt g"t th.r directly in your food. The body can make the other fourteen

amino acids.
All eight essential amino acids must be pr€selrt in your body aj the same ttme

in order for tte body to form protein. Since free arnino acids carmot be stored in the

boriy, this means thit you -*i 
"o*u.e 

the eight essetrtial acids at approximately the

sarnetime-preferably at the same meals-for your body to use them'

Caibohydrates, foud in spaghetti, bread, cereal, rice' potatoes'' candy' most

fruits and vegetables and other foods, are ow source ofready energy. They contribute

approximateiy 50 percent of the body's energy needs and afe its most economical

"nlrgy 
**"". they include two major types: sugars and starches'

"' 
Fat has gorien bad reptfation .ie"tt'-Vet fat in the diet is essential to good

health. Besides servrng as arradditional errerry source, fats-also known as lipids-give

flavor and juiciness to many of the foods we eat. Fats also insulate the body' protect

vital organ"s, protecting them from injury, serve as carries for the four fat-soluble

v1tu.*i (ADi, anO r; and conribuie io hormone synthesrs -. ! th" blood clotting

mechanism. Unused fats, like extra carbohydrates, are stored as 'fat tissue' and drawn

on by the body when they are needed for energy' Stored fats are the greatest

nutritional reseryoir in the body. 
utrients,Vitamins, along with minerals, are often referred to as 'mlcron

because they are requirid in only trace irmo'nts. Yet they are needed in moving vital

bodily firnclions. Vitamins do not form new compounds in the body, as proteins'

.*#hydrut", and fats do. Rather, they help other chemical reactions to take place'

foie*ampte, vitamin D is necessary for calcium to become part ofthe bone stmcture'

(Adapted from I-rP and Health 1984)
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Individual quiz for treatment 1

t. When is healthy house constmction no mote diffrcult?

a people select non-toxic materials to build a healthy house

b. people have undersrood the basic concepts to build a healthy house

c. people understand of how a house functton

d. people consider of horv to build a health-v house

2. What do drc t*'o uords 'it' in paragraph I refer to?

a- basic concePts ; healtrY house

b. healthy house ; basic concepts

c. basic concePts : basic concePts

d, healthY house ; healthl' house

3. A house breathes natuall!'. What is the clause meant?

a the house can get enough outdoor air

b. the lemperatwe in the house is not 1oo ho1

c. the house looks narural

<1. the house build on the natual area

4. What will happen if the outdoor air quality is poor?

a- &e indoor air qualil)' will be sufftcient

b. the indoor air qualitl' will be more poor

c. the indoor air qualitl is not balance

d. the indoor ar quaiitl' will also be poor

5. ' ... . but this can be expensile' (P 2) Wha1 does the statement mean?

a" if \\'e R'ant to clean all the air indoors' it will be more expenstve

b. if we want to install filtaion equipmenl, it will spent a lot of money

c. if le rvanl good indoor air qualit-v' it u ill need much money

d. A lot of money is needed in order to get good air filtrahon

6. What is the main idea of paragraph 2?

a- the firsl consideralion ofa health-v house construction is the outdoor air quality

b. te need filtration equpment to clear' all the air indoors

c. site selection is important consideration in healthy house consmrclton

d. conslructing a house in an unpolluted area is easier than in a polluted area

7. \lh1 is suft-rcient rentilation needed in designing a healthl housel

a PeoPle need lresh arr

b. outdoor air is needed b-Y the occupants

c. it can suPPlv enough air

d. infiltration can suppll air for the occupants

8. What is the main idea of paragaph 4'?

a- product that contain a high{ox finish is not good for health

b. products uilh lorv-tor finish are better choices

IV



c. kitchen and bathroom cabinets are coared high-tox finish

d. kilchen and balhroom cabin€ts are not b€tter dloic€s

9- ... because they have lower levels of... (P 3). What does the rnderlined word refer to?

a- u,ater based products

b. solvent based Products

c. rolatile orgmic chemicals (VOCs)

d. ingredients

l0.Wha1 should we do if solvent based producs must be used for some reason?

a build a house on the clean locale

b. e,rtra lentilalion is not needed

c. add more ventilation

d. buv altemalive materials



Individual Quiz for treatment 2

1. Contraception is devices and methods for

a. Preve{rtlng Pregnzlnc}'

b. stimulale concePtion

c. prel enting dlsqrse transmission

d. limiting famill' size

2. What do€s 'their' in 'The result of their rvork w'as simple:"' refer to?(pl )

a- e\pens

b. rrorkers

c. PeoPle

d. methods

3. What contributes to the effectiveness of any lorm of birth control?

a human error

b. esPerts

c. contracepu \:e

d. famill'Planning

,1. The effecli leness of conlraceptive is related to

a. user's understanding

b. user's cons istenc)'

c. user's motitatron

d. user's caPabilirl'

5. lhat does paragaph 3 tell us about?

a. considerations in using birth control

b. there are t*o categories ofbirth control

c. kind ofno medical care

d. hnd of medical care

6. Some merhod are alailable lrith medical care- except

a. oral contracepllve

b. intraurine delices

c. natural lamih Planning

d. condoms

7. $hat is a phl sical side effect of condoms'l

a. spread of seruall-'- transmitled diseases

b. no side effect

c. heart attack

d. allergic reaclton

8. \!tat $ill happen if lhere is no birth control'l
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a population is decrease

b. population is increase

c. birth rale is lolv

d. birth rare is stabile

9. What is the main idea of paragraph 6?

a pill s'as first tse in 1960

b. side effecs of using oral contraceptive

c. process and side effects ofpill

d. pill has mans serious side effects

10. We can conclude thal

a- medical care has more side effects than non medical care

b, the side effects ofpill are more serious rhan IUDs

c. condoms are better than Pill

d. condoms are the best method
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Individual Quiz for treatment 3

1. What is the main idea of the l" paragraph?

a- four basic group of chemical in the food

b. all food are composed of chemical compounds

c, kinds of chemical comPound

d. the Process of digeslion

2. Where do people get essential arnino acids?

a- food

b. Protein

c. dairy prodtrct

d bodv

3. Hos manl essential amino acids are required b-v our bodl{

a nvent]''-nvo

b. fourteen

c eight

d thi4'

4. Whal does paragraph 3 rells us about?

a eight essential arruno acids are made up of protein

b. protein rs made up of eight essenlial amino acids

c. eight essential amino acids must be consumed at the same dme

d. the body can not malie eight essential ardno acids

5. ''... .for lour body to use them". 'them' refers to (p2)

a meals

b. protein

c. food

d. fiee amino actds

6. \\hich slarement belos' is false?

a \\ e can acquire carbohl'drates from bread' cassava fruirs and vegetables

b. carbohydrate contnbutes about a quarter of our bodl's energl' needs

c. carbohl'drates are most economical energ) source

d. carbohydrates can be found in candies

7. Fat has gotten abad reputdion. lt means that. '

a. fat can be dangerous for our health

b fat is essential for our health

c. fat Protect our bodv from injun'

d. fat is not essential

8. .'. . repatr ol the bodr"'(p2;. The underlined phrase means .

a ffed

b. protect
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c. made up

d. rebuild

9. Whl' are vitamins referred to as micronutrients?

a thq' n '. t*tted in linle amounl

b. thel' are along with the minerals

c. thq' are moving vital bodily functiom

d. the,v- are do not form new compounds in the body

i O.Which statement is true?

a- r'itamins form nerv compounds in the body

b. r'iramins help the reactions of other chernical

c. r'itamins do as other chemicals do

d. r'itamins is needed for energ-v
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Text I

ln many countrles filth, poor sanitation and bad health are usually found together'

when there is filth, there are a'lot of files, rats and other disease carries that can cause bad

heal th.Whentheseweragesysteminacommunitydoesnotworkwel l ,watertakenfromthe
wel lsmaybedirryandmal 'notbegoodfordr inking'Asaresu|t ,badheal thwi l laf fect the
community.

ln many countnes, communities have adopted laws in order to get pure waler'

suffrcient plumbing and seruage, garbage disposal and clean street laws are also adopted to

."du"" ui.^pott,rtioi and to inip""I eatrng places and public inns. Yet fight agarnst filth and

poor sanitation must go on. fhis is a curnlaign in whic-h all of us must take part. Public health

is the concem of everyone.
In Indonesia almost all communities both in cities and in the villages have good

traditions. On Sunday moming when we pass through a village' we often see oeople taking a

part in making therr sunound]ng clean. ihey clean ditches, pull up unwanted grass, collect

garbage, and plant young rees; tiey want to make the surrounding healthy' clean and ned By

doing this together tnel. expect ihat all members of the village can live healthily, This

tradition must be kePt.
However, there are still some people who do not lnow how important clean

surroundings are. They throw away garbage into irrigation canals, streams and rivers. They

it ro* 
"*"i 

u lot of poisonous waSe irom ih" f*to.to into the rivers. As a result, people can

not use the water from the pott*"a rivers. A lot of fish and other animals are killed. The fight

for clean enuronment must qo on.

1. The word "fiith" in paragraph 1 nearly means"' (5 points)

a. garbage
b. germs
c. dtrt
d. pollutton

2. Who must be responsible for public health? (5 polnts)

a. poor peoPle
b. the govemment
c. everyone
d. cit-v communities

3. What is the good tradrtion of communities in the cities and in the village? (5 points)

a. cleaning ditches
b. making thetr  enrt tonment c lean

c, pulling up unw'anted garbage and plantrng young trees

d. collecting garb€e

4. Wtrat is the main idea ol paragraph 4? (5 potnts)

a. There are still some people who make envrronment dlny

b. People still throw arval' garbage into the river

c Factones discharge polsonous wastes into the rtver

d. The fight for a clean enuronment must go on'

5. The communities uili have a healthy tife and clean environment if (5 points)

a. each people has responsrbility to keep the cleanliness oftheir environment

U. both tities and villages have good tradition to keep the environment clean

c. the factories do not thro\ away their poisonous w aste into the nver
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d. there is strict law in the communtty

6. The passage is concemed with. .. (5 points)

a. Indonesia is a filth country
b. keep clean envlronment
c. good tradition to keep clean envlronment
d. rivers pollution

Tert2

Lowering births is the unambiguous object of govemment policy, especially in the

developing cou.rt ies. lncreasing populations press on the environment and its resources, take

u*uy i.ofit, from the capital available for new investment, crowd cities with 5 people for

wttom .lobs are not available, and cause political turmoil. After a period of uncertainty

government have become aware that national power and individual welfare are more likely to

be attained with fewer people.
Contraceptive measures are freely available in most countries and are actively promoted

in many. Such promotion has little effect when people want large families. However, when

the moiem ways of life have come into play and people want small families promotlon or

birth control speeds the decline ofthe birth rate-
Typically, the better-off take up family limitation first. Govemmental sponsorship of birth

confrof and foreign aid makes cnntraceptives available to the poor. This apparently helps to

spread the practice of family limitation among ever-wider strata of the populdion.' 
Receni surveys in Columbi4 lndonesi4 and other places with active programs, point to a

more rapid decline in birthrates than had previously been thought possible

7 The best title ofthe text is(5 points)
a. Birth Conrol
b. Family Limitation
c. Lowering Birth
d. Family Planning

8. What is likely achieved by the government with fewer people? (5 pornts)

a. national power and political turmoil
b. individual welfare and lack job
c. national power and indiredual welfare
d. available job and political disorder

9. What will happen if the birth rare is still increase? (5 potnts)
a. a lot of poor famrlies
b. national power and individual welfare can be easily achieved
c. there is no job available for five people
d. the country can not develop well

10. Who takes family limitation first? (5 points)
a. small families
b. poor famrlies
c. families with modem wavs of life
d. large families

i L The first paragraph tells us about . (5 points)
a. lowering birth is the unambiguous object of government in order to develop the country

b. increasing populations p."J, on the environment and its resources and cause political

turmoil
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c. government have become aware that national power and individual welfare are more likely

to be attained with fewer PeoPle
d. lowering birth take away profits from the capital available for new rnvestment

12. "... amore rapid decline .. "(par a) (5 points)

The underline word means. . .

a. control
b. fast
C. m0'v€

d. stop

13. The aim of Family Planning is.. (5 points)

a. to increase ofthe birth rate

b. to increase ofthe death rate

c. to decline of the death rate

d. to decline of the birth rate

14. "This apparently helps. . . " (par. 3) (5 points)

"this" refers to. . .

a. family limitdron
b. birth control
c. poor family
d. govemmental sPonsorshiP

Text 3

There are several impo(ant things we must in order stay healthy One^of them is that

we must eat enough quantities of nutritious food. Good food is very importatrt for keeping our

body healthv noid 
"vhich 

contains a lot of nutrients is alrvays good for our bod-v. Nutnents

are of ltve lmportant groups, proteins carbohydrates, fats. minerals and vitamins' our body

needs proteins for its growtlr- Therefore' pro6ins are the most imponant nutrients- for young

people. Proteins also iebuild wom-out body tissues. We can acquire proteins from meat'

chicken, peas, beans, coconuts, eggs and milk

iarbohydrates are as important as proteins, because thel' 4" the rnain source ol

energy. The body needs energy to do its work. carbohyd:ates a1.e found in bread' cakes, flce'

potatoes. c3ssava com. sugar and sweets' 
Fut *" oih", important sources of energy. We can find fats in butter, margarine, milk,

coconut-milk, eggs, fishmeat, and ice 
"r**. 

Ho*"n.r. too much fat can make our body fat

and this is dangerous for our heart. It can cause heart attacks

N{ineralssaltssrchascalcium,magnesium'phosphorus,andironarealsoabsolutely
necessan,tbrourbody'For instance,calc ium,magnesiunr.phosphorusarenecessar l . for the
growth of orrr bones and teeth. Iron is import6ant for our biood'

V i t am insa re lmpor tan t fo rou rhea l t hThebod l cenno tmake i t so \ \ ' n \ r t am ins ' so i t
depends on our food foi these. We must eal food whtch contains a lot of \iltamlns. such as

. 
"letable 

and fruit. They help the body to absorb other nutflents in tbod. Vitamins control our

drgestron.

15. Which of the statements below is true according to te\1l (5 pornts)

a nutrients contain food

b. protein ate not needed by our body

c. vitamins are important for our blood

d. nutritious food is very important for keeping our bod-v healthy

16. "Thev help the body to observe. . " (par 5) (5 pornts)

The word they" refers to
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a. the body
b. contains
c. vitamins
d. vegetable and fruit

17. The importance of carbohydrate for our body. This statement is the main idea of

paragraph... .(5 potnts)

a . i
b . 2
c . 3
d . 5

18. Too much ... . Is not really good for our heaith especially our heart (5 points)

a. fat
b. protein
c. carbohydrates
d. mrneral

19. The text is about... (5 Points)
a. the nutritious food needed by our body
b. the source of food
c. the important things for people to grow well

d. kind of nutnents

20. "Protein also rebuilds wom-out body tissued' (par' l )
The underline phrase means... .(5 points)
a. tired
b. broken
c. repailed
d. damaged

xill



THE CALCULATION OF RELIABILITY

No x
1 '11

2 ' t2

3 18
4 13
5 4
6 11
7 11
I 1 9

9 13
10 12
1 1 9

12 18
13 11
14 12
15 10
16 't1

17 19
18 10
'19 10
20 12
21 17
22 16
23 13
24 12
25 11
26 6
27 5
2a 11

I29
1430

31 10
32 4
33 1 1

34 6

1035
36 13
37 9
38 I
39 11
40 A

Total 148

M 11.2

SD 3.85
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v: I {=t t .z
t7

SD : sum of high sixth - sum of lorv sixth

halfnumber ofshrdents

KR21  -  1 -M- (K -M)  =0668

K (st)

Where,

M : the mean score

K : the number of items in the test

S : standard deviation ofthe test scores

:3 .85



THE CALCULATION OF DIFFICULTY INDEX AND DISCRIMINATTON FOWER

Item No. Difricultv Index Discrimination Index
1 . pv =E-o:ts

40
o: l l -4 :o lo

10
z- 1,v -4=s.s5

40
o-20-14 =o.oo

l 0
J . Fv -4=s.65

40
6,- 16-10 - o.oo

l 0
4. pr:L\-o.qs

40

1 4 - 4
D_:_-- -  _ l

l 0
5. pv:12:0.+ts

40

I s - 5
D="  

-=0 .90
10

6. l 9
40

:0.475
t )  - 7

D=::--- = 0.50
l0

7 . 20
I<  l /  -  -=u. ) tJ

40
p-\:2 -o.zo

10
8. pv -11:oss

40
P= 

19-16  =  o . :o
l0

9.
1ry =35 -g.g5

40
o= 19-16 -  o .3o

10
10. rv - L-o.zzs

40

1 _ )
D- '  

-  =0 .50
10

1 l rv =4=o.os
40

o= 15 -11 
= o.+o

10
12.

t'V - 
9 :0.225
40

D-7  
-2  

-0 .50
l0

13 .
FV _- -'t z

40
=0.80 n=17 

-15 =o.zo
10

1 4  ) O
FV -  ' - :  -0  50

40

1 ? - 7
/ )= ' "  

' =0 .60
l0

1 5  ) 5
Fr' = ::-=0 625

40
16 .  l 9

1 ' t  =  -=0 .4 ' 75
40

l 7  34
1 . t z  .  - - 0  85

40

i  o= 15- lo =o.so
r1o-
' ,  1 )  - 1

D = - = U . J U

i  zr= 18-16 = o.zoj 1 0

18 .
t .v  - - 1=0.85

40
o= 19-15:0 .+o

10
t g  l o

FV = - :=0.25
40

R _  ?
71= : : : 0  60

10
20 1;v - \ -o.zs

40

o _ l
D=:---l = 0.80

10
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FORMULA

R
F \ I :  "  =

The criteria of level

0.00 -  0.14
0.15 -  0.29
30  -70
7 l  -85
86  -1

Correcl Ansu'er

N Number o.f testees

difficulty (Heaton: 1979):

Very Difficult
Difficult
Acceptable
Easy
Very Easy

The criteria of discnmination power (Hanis: 1969)

( lo r rec tU-Cor rec tL
n _

n

ll : number of sfudents in one group

The criteria of discrimination power (Hanis: 1969)

- 1.00 unti l  + 1.9
+ .20 until + .39
+ .40 untii + 1.00

Low
Satisfaction
Very Effective
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THE TRY-OUT AND PRETESTS SCORES

Try-out Group
x.7

Control Group
x.9

Experimental Group
x.8

55 5U 60

60 50 60
90 OU 45

65 65 65
20 45 70

55 65 60
55 B5 40
95 80 60
A6 70 65

60 70 40
45 50 55

90 60 65
E A 75 80
60 60 55

50 55 55

55 90 60
95 70 45
50 65 40
50 60 45
bU 60 45
B5 60 80

80 65 45

65 50 60

60 55 65

55 60 75

30 60 70
z3 CU 85
55 65 50
45 55 50
70 70 A R

qn

20
69
65

55
40

55 OU Rn

ZJ 35 45
50 70 45
AE 40 65

45 70 50

45 70 65

55
30

2240 2350 2170
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THE CALCULATIONS OF TWO MEANS TEqrq

Nc Control GrouP (X.9) Trvout GrouP (X.7) I
xA x'A xB xtB

4 50 2500 55 3025

2 50 2500 60 3600

3 60 3600 90 8100

4 65 4225 A6 4225
q 45 2025 20 400

65 4225 55 3025

7 85 7225 55 3025

8 80 0400 95 9025

9 70 4900 65 4225

10 70 4900 60 3600

:  11 50 2500 45 2025

12 60 3600 90 8100

,13 75 5625 55 3025

1 4 60 3600 60 3600

15 55 3025 50 2500

,16 90 8100 55 3025
1 - ' 70 4900 95 9025

18 65 4225 50 2500
. to 60 3600 50 2500

20 60 3600 60 3600

21 60 3600 85 7225

22 I 65 4225 80 6400

23 50 2500 65 \ 4225

24 55 3025 60 JOUU

25 60 3600 55 3025

26 60 3600 30 900

27 50 2504 25 l 625

28 65 4225 55 3025

29 6 6 3025 45 I 2025

?,n 70 4900 70 4900

J I 65 4225 50 2500

32 65 4225 2A 400

J J OU 3600 3025

34 35 1225 25 625

35 70 4900 50 2500

JO 40 1600 65 4225

37 70 4900 45 zvzS

3B t v 4900 45 2025

39 55 3025

40
en 900

Total 2350 150050 2240 139350

r mean 61.84 56

SD 11.295 18.885
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TEST OF H\?OTHESIS

l. Ho : pA : UB, there is no significant difference between the mean of two groups

Ha : pA > pB, the means score of group A is greater than group B

2. t_ test, wlrere db : tA+nB-2:76

I  ( .05/2) :2 .000

3. Calculation for t - observation (to):

A: Control GrouP (X.9)

s f
X -  1=61 .84

n

: 11.295S :

B: Try-out GrouP (X.7)

l w

,Y  ===56
n

l r tx t  -  (  tx ) 's  =  1" " "  '  - '  ' '  -  18 .88s-  
I  n (n- l  )

- 1.646

-1. Conclusion:

Because l-observation (to): 1'646 < | (0512')' Ho is accepted Hence' we can

conclude that there is no significant different between the tncan score of gfoup

A and grouP B.

ntx'? - (tx)'z
n (n  - l  )

X A_X B

XX



Tr{E CALCULATTONS OF TWq J4E4Nq rEqr!

No ExperimentaI GrouP {X.lQ Trv-out

xA x'A xB x2B

1 60 3600 q E 3025

2 60 3600 OU 3600

3 45 2025
4225

90
65

8100

4 65 4225

5 70 4900 20 400

6 60 3600 55 3025

7 40 1600 55 3025

B 60 3600 95 9025

I 65 4225 65 4225

10 40 1600 60 3600

1 1 55 3025 45 2025

12 65 4225 YU 8100

13 80 6400 55 3025

14 55 3025 60 3600

15 55 3025 50 2500

1 6 60 3600 55 3025

17 45 2025 95 9025

18 40 1600 50 2500

19 45 2025 50 2500

2A 45 2025 60 3600

21 80 &00
2025

85
BO

7225

22 45 6400

23 60 3600 65 4225

24 65 4225 60 3600

25 75 5625 6 6 3025

26 70 4900 JU 900

27 85 7225 25 625

2A 2500 5550 3025

29 6n 2500 45 2025

30 65 4225 70 4900

31 55 3025 50 2500

32 40 1600 20 400

33 50 2500 55 3025

34 45 2025 25 625

35 45 2025 i 50 2500

36 65 4225
2500 45

4225

37 50 2025

3B 65 4225 45 2025

39 55 3025

40 30
!

129300 2240

e00

Total 2174 139350

i mean 57.10 56

SD 12.060 18.885
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TEST OF HYPOTHESIS

1 . Ho : pA : pB, there is no significant difference between the rnean of two groups

Ha: pA > pB, the means score of group A is greater than group B

2. t- test, wlrere db : nA+nB-2 - 76

t (.0s12):2.000

3. Calculation for t - observation (ro):

A = Experimental GrouP (X.8)

lr
x = - : '  =57 10

n

ntx'? - (tX)?

n (n - l )
12.060

B = Try-out Group (X.7)

I x
X -= :=56

n

S :

S=
ntx' - (tx) '  _

n (  n  - 1 )
18.88s

-  0 .019

n A + n B - 2

4. Conclusion:

Because/-observat ion( /o) :0 .019<t( .0512) .Hoisaccepted.Hence,wecan

conclude that there is no significant different between the mean score of group

A and gouP B.

( r  1)
l - ' + - ,
\ #  n B )

( nA - \S ' ?  A+@R- r )S2B
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THE CALCULATIONS OF TWO MEANS TESTS
No Control Group (X.9) lGroup (X.8)

xA xtA xB x'B
4
I 50 2500 OU 3600

2 50 2500 |fU 3600
3 60 3600 45 2]?:5 _,
4 65 4225 65 4225

5 45 2025 70 4900

6 65 4225 60 3600
7 85 7225 4A 1600
tt 80 0400 60 3600
o 70 4900 65 4225
10 70 4900 40 1600

11 6n 2500 55 3025

12 60 3600 65 4225

13 75 5625 BO 6400

14 60 3600 55 3025
15 55 3025 55 3025
'16 90 8100 60 3600
17 70 4900 45 2025

18 65 4225 40 1600

19 60 3600 45 2025
20 60 3600 45 2025
21 60 3600 80 6400

22 65 4225 45 2025
23 50 2500 60 3600
24 55 3025 65 4225

25 60 3600 75 5625

26 60 3600 70 4900
27 50 2500 85 7225
2A 65 4225 25AA

29 3025 50 2500
30 70 4900 65 4225
31 65 4225 55 ?nrq

a t 65 4225 40 1600
60 3600 50 2500

34 1225 45 2025
35 70 4900 45 ZUZJ

JO 40 1600 4225
J T 70 4900 50 2500

J.' 70 4900 65 4225
?o

40
Total 2350 150050 2't70 't 29300

'mean 61.84 57.10

SD 11.295 12.060
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TEST OF HYPOTHESIS

l. Ho : UA : pB, there is no signihcant difference between the mean of two groups

Ha : pA > pB, the means scor€ of group A is greater than gtoup B

2. t- test, rvhere db: n{+18-2 :76

t (.0s12):2.000

3. Calculation for I - observation (to):

A = Control Group (X.9)

' Y

X =1=61 .84
n

S- -- 1r.295

B = Experimental Group (X.8)

S Y

, y  = :  =57 .10
n

a- t)

ntx' - (rx)'
n (n -1 )

: 0 .897

|t!)! 4ll,,B_t){4_r_' -,- I I
\  nA+nB-2 \nA nB )

4. Conclusron:

Because l-observation (ro) :0 897 < t (.0512)' Ho is accepted. Hence, we can

conclude that there is no sigrificant different between the mean score of group

A ald grouP B.
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No
Experimental grouP

(sTAD)
Gontrol grouP

(non STAD)

1 7A 60

2 65 50

3 55 60

4 75 65

5 65 45

6 75 55

7 60 95

8 75 75

I 75 80

10 80 85

1 1 60 75

12 60 55

13 95 80

14 70 5 5

15 75 65

16 95 80

17 60 ?0

18 t )55

19 50 80

20 75 70

21 90 5 5

22 60 65

85ZJ 70

8524
'70

25 85 80

26 100 70

z t 95 60

28 6s 60

29 70 65

80

J I 65

32 60 I J

33 5 5

34
'lo 40

35 90 30

36 70

J I 60

3B 65 7 5

Total 2140 2550

POSTTEST SCORES OF EXPERIMENTAL GROUP AND CONTROL GROUP

7
9
7

5

45

75

I
:-
5,

5
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THE CALCULATIONS OF TWO MEANS TESTS IN TOTAL QUESTIONS

No
Experimental group I

_, (_sr49l__1
xAlr 'a l

Control grouP
(lq!€rAql

xe i x2e
I 70 4900 36@

2 65 4225 50 2500
? 55 3025 60 3600

4
' la 562s oc 4225

5 65 4225 45 2025
o 75 5625 55 3025
7 60 3600 95 9025

8 75 5625 75 5625
t 5 5625 atu 6400

10 BO 6400 85 7225
1 1 60 3600 75 5625

12 60 3600 55 3025
, 1 2 95 9025 80 6400

1 4 70 4900 3025
'15 75 ffi25 65 4225
16 95 9025 80 6400
1 7 60 3600 I U 4900

1B 55 3025 75 5625
19 50 2500 BO 6400
20 75 5625 70 4900

21 90 8100 55 3025

22 60 3600 tt5 4225
23 85 7225 70 4900

24 85 7225 70 4900
25 85 7225 80 6400
zo 100 10000 70 4900
27 95 9025 60 3600

2A 65 4225 60 3600
29 70 4900 4225

80 6400 70 4900
? 1 Aq 4225 65 4225
32 OU 360C 75 5625
JJ 55 3025 55 3025

34 70 4900 40 1600
35 on 8100 80 6400
36 70 4900 45 2025
37 60 3600 75 5625

38 65 4225 75 5625
Total 2744 203900 2550 176600

n 38 38

MEAN 72.105 67.105

SD 13.081 12.172
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J -

TEST OF HYPOTHESIS

l . Ho : rnA: md there is no difference between the means of the groups

Ha :mB>mB,meansco reo fg roupA isg rea te r t hanmeansco reo f

grouP B

t - test.where db: n -l :37

/  ( .05)  -  1 .684

Calculation for I - observation (to)

A = STAD class (experimental group)

rv
X:=  =?2 .105 ;  r=38

n

S:
ntx ' - ( tx ) '  :13 .081

n (n - l )

B - Conventionalclass(control group)

I t

x  = :  =67 .105 :  n=38
n

ntx ' - ( tx ) '  :12 . r .12
n ( n - l )

S :

aa) - :  t ;725
(r r)
l - + - l
\ru4 nB )

(nA-DS'z A+fu?- l )9 '?B
nA+nB-2

4. Conclusion
Because t - observation (to): | 725 > t ('05)., Ha is accepted'

Hence, we conclude that the difference between groups is sigrrificant and

theSTADteclrniquecanimprovethestudent'sreadingcotnprehenston

achievement better than conventional technique'

XA-XB
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No
PRETEST POSTTEST i

FQ IQ SMQ MIQ so TOTAL FQ IQ SMQ MIQ SQ TOTAL

1 20 15 15 5 60 20 1 5 10 1 5 10 70

2 15 ' t0 10 10 15 60 20 15 5 10 15

3 15 ' t0 4 10 45 20 5 10 ' t0 10 55

4 15 15 4 q 10 10 65 25 15 10 15 10 (5

5 20 15 10 10 ' t5 70 2A 15 '10 10 10 65

6 15 15 10 10 I U 60 20 10 15 10 20 75

7 6 10 10 10 40 10 10 15 ' t5 10 60

I 25 10 q 15 q 60 25 15 t n 15 10 75

I 25 15 0 10 15 65 20 15 E 15 20 75

10 20 5 0 F 10 40 25 15 15 10 ' t5 EU

' l l 20 10 0 10 15 55 20 15 6, 15 q 60

12 15 15 1 R 10 10 65 20 10 10 10 10 60

13 20 15 10 15 20 80 20 20 15 15 25 o6

1 4 25 15 0 10 55 25 20 5 15 5 /U

'15 20 5 10 10 10 55 2A 15 10 15 15 75

1 6 20 10 C 15 10 60 20 20 15 15 25 95

'17 15 15 5 10 0 45 20 20 10 10 o 60

18 15 5 5 10 5 40 20 15 5 '10 q66

19 10 15 , 5 '10 6 45 20 5 5 10 10 50

20 25 10 5 5 0 45 25 20 15 10 E.
-f1

21 20 5  15 1 E 25 BO 20 20 10 15 25 90

22 '10 10 10 10 5 45 20 't5 5 10 10 60

23 20 1 5 I t o 10 5 60 25 20 5 15 20 85

2024 ZU 5 10 10 65 20 20 10 15 20 B5

2025 15 10 15 15 75 20 ZU 10 15 20 E5

25zo 10 0 ' t5 20 zc70 20 15 15 25 100

2527 1015 4 4 20 2585 15 1 4 15 25 95

2028 10 5 10 2550 15 5 10 10 65

202S 't5 5 10 n 254n 115 10 10 10 7 0 i

2530 1015 10 2565 20 15 10 ' t0 80

25'11 15  5 5 5 2555 5 ,1 6 10 10
15

A 5

bU1032 0 '10 10 10 2040 15

20J5 1010 ' t0 0 zv50 10 15 6 55

1534 105 ' t0 2045 15 10 10 15 70

1535 105 10 4 2545 15 ' t0 { q 20 85

ZU36 205 10 10 2065 ' t5 10 10 1 5 70

2037 105 10 5 20EN 6 1 5 10 1 E , 65

2038 205 10 10 2565 10 10 5 1 6 65

TOTAL 2170 i 44o

PRETEST AND POSTTEST SCORE OF EXPERIMENTAL GROUP (STAD)
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No
Pretest

(x)
Posttest

(Y)
D

(Y-x)
D2

(Y-X)'

I 60 70 10 100

2 60 65 5 25

3 45 55 10 100

4 65 75 10 100

5 70 65 -5 25

6 60 15 15 225

7 40 60 20 400

8 60 75 15 225

9 65 75 10 100

10 40 80 40 1600

11 55 60 5 25

12 65 60 -5 25

13 80 95 15 225

14 55 70 15 225

15 55 75 20 400

16 60 95 35 1225

17 45 60 1 4 225

18 40 55 15 225

19 45 50 5 25

20 45 75 30 900

21 80 90 10 100

22 45 60 15 225

23 8560 25 625

24 8565 20 400

25 8575 10 100

26 10070 30 900

27 9585 10 100

28 6550
' t5 225

29 7050 20 400

30 8065 15 225
e.4 6555

,t al 100

32 6040 20 400

33 A 450 q 25

34 45 70 25 625

35 45 90 45 2025

36 7065 5 25

37 6050 10 100

38 65 65 0 0

Total 2170 | Ztno 570 13000

n 38

mean 57.105 | 72;los 15.000

SD 10.967

THE CALCULATIONS OF T-TABLE IN TOTAL QUESTIONS
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TEST OF HYPOTI{ESIS

1. Ho

Ha

gA: pB, there is no difference between posttest and pretest

pA > ttB, score ofposttest is greater than pretest

2. I - tesl where db : n -l : 37

I  ( .05) :  1 .684

3. Calculation for / - observatron

io
D=_ :  r )

n

ntD2 -(rD)'?

n  (n -1 )
S=

I)
t o :  " -  : 9 . 247

S iJn

4. Conclusion

Because to = 9.247 > / (.05), Ho is rejected. Hence, we can conclude that at a 0 05

level there is a significant difference between pretest and posttest.

10.966
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No
Pretest

(x)
Posttest

(Y)
D

{Y-X)
D2

1 20 20 0 n

2 ' t5 20 5 25
3 15 20 5 25
4 15 25 '10 100
6 20 20 0 o
6 15 20 5 25
7 5 10 5 25
t' 25 25 0 o
9 25 20 -5 25
10 20 25 5 25
1 1 20 20 0 0

12 ' t5 20 6 25
1 a 20 20 0 o
14 25 25 U U
' t5 20 20 0 0
1 5 20 20 0 o
17 1 5 20 6 25
18 15 20 6 25
'19 10 20 10 100
lu 25 25 0 0
21 20 20 0 0
22 10 20 10 100
23 20 25 25
24 20 20 0 0
25 20 20 0
26 25 25 0
27 25 25 o0
28 20 25 525
29 20 25 255
30 25 25 00
31 25 25 00
32 10 20 10  100
33 zu 20 00
34 15 20 255
AR 1 q 25 10  100
36 20 20 00
't'l 20 20 00
38 20 z3 525

Total 710 820 850110
n 38

mean 18.684 21.578 2.894
SD 3.790

THE CALCUI.ATIONS OF T-TEST IN FACTUAL QUESTIONS
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l .

.,

J .

TEST OF ITYPOTHESIS

Ho : pA: pA, there is no difference between posttest and protest

Ha : pA > pB, score ofposttest is greater than pretest

t - tesl. wtrere db : n -l :37

r (.05) : 1.684

Calculation for t - observation (lo)

' D
D- - -  =2894

n

- 3.790

S l.tq
:  4.713

4. Conclusion

Because t - observation = 4.713 > t (.05) Ho is rejected. Hence, we can conclude

that at a 0.05 level there is a significant difference between pretest and posttest.

D
to

n.rD'z -  (>D) 'z

XXXII



No
Pretest

(x)
Posttest

(Y)
D

{Y-X)

D2

I 15 15 0 0
z 10 ' t5 5 25
3 10 5 -5 25
4 15 15 o o
t 15 15 o 0
6 15 10 -5 25
'f 10 10 o o
8 10 15 5 25
o 15 15 0 o
10 E. 15 ' t0 100
t l 10 15 5 25
12 15 10 -5 25
13 15 20 5 25
14 15 20 5 25
15 5 15 10 100
16 10 20 10 100
17 15 20 5 25
18 5 15 10 100
19 15 5 -10 100
20 10 20 10 100
21 5 20 15 225
22 10 15 5 25
23 ' t5 20 6 25
24 20 20 U 0
25 15 20 5 25
zo 10 20 10 100
27 15 15 0 0
2A 10 15 5 25
29 15 15 0 0
JU 15 20 5 25
' l l 15 5 -10 100
32 0 q 25
J J 10 10 0 0
34 10 15 25
2tr 10 . 1 4 25
JO 20 15 A 25

10 5 -5 25
38 20 10 - 10 100

Total 460 550 90 1600
n 38

mean 12.105 14.473 2.368
SD 6j22

THE CALCULATIONS OF'T.TEST IN INFERENCE QUESTIONS
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TEST OF FTYPOTHESIS

1.  Ho

Ha

pA: pB, there is no difference between posttest and pretest

UA > UB, score ofposttest is greater than pretest

2. t -- tesl,where db : n -t : 37

r  ( .05) :  1 .684

3. Calculation for to:

' D
D = 1"  =2.368

n

:6 .122

: 2.384

4. Conclusion:

Because to : 2.384 > / (.05), Ho is rejected. Hence, we call conclude that at a

0.05 level there is a signifrcant difference between pfetest and posttest

D

s/{,
to

n. tD' - (tD)'?
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THECALCULATIONSoFT-TESTINSUBJECTMATTERQUESTIONS

No
Pretest

(x)
Posttest

ff)
D

(Y-X)
t

1 5 10 5 25
2 10 5 -5 25

3 5 10 5 25
4 15 10 4 25

5 10 10 0 o
6 10 15 5 25
7 5 15 10 't00

8 5 10 5 25
o 0 q 5 25

10 0 15 15 225

11 0 5 25

12 15 10 -5 25

13 10 15 5 25

14 U 5 25
15 10 10 0 o
16 5 15 10 100

17 5 10 25
18 5 5 0 0

19 5 5 0 0

20 A 15 10  I  100

1521 10 25

1022 5 25E

23 10 5 -5 25
1024 5 255

25 1010 0 0

26 0 't5 15 225

27 10 15 3 25

28 5 0 U

29 G 10 25

30 10 1 E 25
31 5 , t t r 10 100

32 l n 15 5 25
33 10 '15 5 25

34 10 5 25

35 4 10 25

36 E 10 25

37 5 15 10 100

3B 10 5 25

Total 255 400 145 1575

n 38

mean 6.710 10.526 3.815

SD 5.254
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TEST OF HYPOTHESIS

1 .  Ho

Ha

pA: pB, there is no difference between posttest and pretest

UA > pB, score ofposttest is greater than pretest

2. | - lest vrhere db: n -l : 37

r (.05) : 1.684

3. Calculation for to:

' D
D _- "  =3 .815

n

:5 .254

:4.477D
lo

S IJ;

4. Conclusion

Because to = 4.477 > t (.05), Ho is rqected. Hence, we can conclude that at a 0'05

level there is a signifrcant difference between pretest and posttest'
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THE CALCUT-ATIONS OF T-TEST IN MAIN IDEA QUESTIONS

10
11

10

12

15

25
25

31

5 -525
510525J  I \ J

{ n  1 6  5  2 5I \ J

' r0 0 0
{ n  n  nt v

10

10
10

25

390 450

10 t_-  15
15 i15

15 15  lo

' 1 0 i 1 0  1 0

21 I  15 ' ,15

22 l to100

15  15  0
15  15 ,0
1010 r0

n
I U  I U  r J

10  100

1 0 5 - 5

10.263 11.842 1.578
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TEST OF TTYPOTHESIS

l .  Ho

Ha

UA: trB, there is no difference between posttest and pretest

uA > UB, score ofposttest is greater than pretest

2. t - testwheredb : n-l :37

/  ( .05) :  1 .684

3. Calculation for to:

S I \

D =  " "  :1 .578
n

S:

to  :  f , -  =2 .944
S l"ln

4. Concluston

Because to:2.944 > t (.05), Ho is rejected. Hence, we can conclude that at a 0 05

level there is a signihcant ditTerence between pretest and posttest'

: 3.309

X)OryIII



THE CALCULATIONS OF T-TEST IN STRUCTURAL QUESTIONS

No
Pretest

(x)
Posttest

(Y)
D

(Y-X)
D2

I 5 10 5 25

z ' t5 1 5 0 o
? 10 10 0 0
4 10 10 U 0

5 1 5 '10 -5 25

6 10 20 10 100

7 10 10 0 0
a 5 10 25
I 15 20 5 25

10 10 . t t 5 25

1 1 15 6 - 10 100

12 10 10 0 o
13 20 25 25

1 4 10 5 -5 25

1 5 10 15 5 25

16 10 25 15 225

17 o o o 0
18 E q 0 0

19 5 10 5 25

20 0 25

21 25 25 0 0

22 5 10 5 25

23 5 20 15 225

24 10 20 10 100

15z5 ZU 5 25
26 20 25 5 25

27 20 25 5 25

2A 10 5 25

:29
30

0 10 10 100

5 10 2 5 i

5 10 25

J Z 10 15 5 25

U 25

34 10 15 q 25

35 5 20 . t < 225
, t n 15 5 25

J T 15 10 100

JtJ 10 48 , 5 25

Total s55 520 165 1725

n 38

mean s.342 13.684 4.342

SD 5.220
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TEST OF HI?OTHESIS

1 .  Ho

Ha

UA: pB. There is no difference between posttest and pretest

pA > pB, score ofposttest is greater than pretest

J .

/ /e.s/ where db: n -l :37

/  ( . 05 ) :  1 .684

Calculation fot lo --

5 n
D = "_:::- -4.342

n

S :
-- 5.220

D
t o : - - - -

S  l . ln
: 5.137

)

4. Conclusion

Because to : 5.132> t (.05)' Ho is rejected. Hence' we carr conclude that at a 0.05

level there is a significant difference between pretest and posttest'

n.LDz - (UD)'z

XL



THE GAIN SCORE OF EXPERIMENTAL GROUP AND CONTROL GROUP

Experimental GrouP Control Group

NO x x2 Nolx ix '
1 1 0 100 1 '10 100
') 5 2 0 U

1 0 100 5 0 0

4 1 0 100 4 0 0

5 E a t q 0

b 1 5 225 o - 1 0 100

7 ,,^ 400 7 1 0 100

I 1 5 22s I 25
!.1 1 0 100 o l n '100

1 0 40 1600 1 0 1 5 225

1 1 5 25 1 1 25 625

l z -5 1 2 25
'13 1 5 225 t ? q 25

1 4 1 5 225 1 4 25
1 5 20 400 1 E 1 0 100

t o 35 1225 t o -  t u 100

t t 1 5 225 1 7 0 0

1 8 1 5 225 1 8 1 0 100
. to 5 25 t o 20 400

zv 2n 900 20 '10 100

21 1 0 100 21 25

zz 1 5 zZJ 2 2 0 0

1 5 25 A?5 )2, 20 400

20 400 24 15 lz3

zc 1 0 100 25 20 400

zo 5U 900 zo 10 100

27 1 0 100 2 7  ,  1 0 100

28 1 5 l 23

400
28 -5

2 9  1 0
25

zv 20 100

J U
{ ( t zJ J U U 0

3 1 1 0 100 3 1 n U

20 400 5.,'_ 1 0 100
5 z a 25

Jl+ z3 D Z J 34 J 25

40 1600 5 3 1 0 100

JO 5 25 Jb 2 J

3 t 1 5 l 2 3 3 7 5 25
?R 0 0 2 a  R Z J

i TOTAL 570 \ 12704 TOTAL I 2OO 3850

i MEAN 1 5 i
l MEAN ] 5,263

SD 10,59 SD I 8,69-

XT-I
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TEST OF HYPOTHESTS

l .Ho :mA:mA, the re i snod i f l e rencebe tween themeanso f t heg toups

Ha : rnB > mB, mean score of group A is greater than mean score of

grouP B

3 .

t tesl, where db : n -1 : 37

I  ( .05)  :  1 .684

Calcrrlation for I - observation (ftr)

A = STAD class (experimental group)

n -38

S=
ntx ' - ( tx ) '  :10 .59

n (n - l )

B = Conventional class (control group)

t *
X=-  =5 .263 ;  n=38

n

ntx '?-( tx) '_r .un
n ( n - l )

T O :
-- 4.382

4. Conclusion
Because t - observation (b):4'382 > t ('05), Ha is accepted'

Hence. we conclude that the difference between groups is sigriflrcant and

theSTADteclrrriquecanimprovethesnldent'sreadingcomprehension

achievetnent bettet than conventional technique'

t .
x  =  -  = l ) '

n

XA-XB

TnA - t )s '  .4+(nB-1) . \ 'B f  l  ,  I  " l
\  n 4 + r r l J - 2  \ r A  n B )
\  ' " '  " "

XLIi




